X CLASS
SOCIAL STUDIES
FORMATIVE TEST – III 
( SLIP TEST )
Marks : 20                                                                                                                                      Time : 45 min.
I. Select the correct answer and write down in the bracket.                                                     4 x ½ = 2 M
 1. Provisions in the Indian Constitution that cannot be changed                                                           (     )
  A. Form of the government                                                B. Federal character 
  C. Supremacy of the constitution                                      D. All the above   
2.  The person who belongs to Indian National Army                                                                                (     )
  A. Mahatma Gandhi         B. Subhash Chandra Bose      C. Jawaharlal Nehru    D. B.R.Ambedkar 
3. The following is not Metropolitan city                                                                                                     (     )
   A. Chennai                        B. Hyderabad                            C. Ahmadabad             D. Kolkata
 4. Migrations are commonly occur from                                                                                                     (     )
  A. Urban to rural              B. Rural to rural                        C. Rural to urban         D. Urban to urban
II. Answer the following questions in one or two sentences.                                                    4 X 1 = 4 M
 5. What are Juggi Jhopdis ?
 6. In urban areas, what are the common sectors of the economy in which migrants from the rural 
     areas find employment ?
 7. Liberty is a boon given by our constitution. Write about such kind ideals which were incorporated 
      in the preambles of Indian Constitution ?
 8. Which princely states joined in India after 15th August 1947 ?
III. Answer the following questions in four or six sentences.                                                    3 X 2 = 6 M
 9. How did partition affect the lives of ordinary people ?
10. The constitution of India begins with the statement, “We the people of India…..” , Do you think 
       this claim to represent all the people of India was justified ?
11.
	‘Thought there has been and increase in urbanization, the necessity of providing basic infracture that can support this growth is missing.


         What is your opinion on the conditions of urban poor people ?
IV. Answer the following Questions.                                                                                               2 X 4 = 8 M
12.(A) Draw arrow lines (     ) on a world map depicting 4 major countries  to which the people with 
            technical skills migrate.
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 (OR)
(B) Locatethe following Aerotropolises in the world map.
      i. Suvarnabhoomi International Airport     ii. Dubai International Airport
      iii. Cairo International Airport                      iv. London Heathrow Airport                     
13.(A)Observe the  graph given below and answer the following questions.

	


i. How many amendments were made from 1951 to 1960 ?
ii. What was the period when maximum amendments were made ?
iii. What was the period when minimum  amendments were made ?
 iv. Since the constitution was adopted, how many amendments were made so far ? 
 (OR)
(B) Observe the given data and answer the following questions.
	Population of Visakhapatnam

	Year
	Population
	%chance

	1901
	40,892
	

	1911
	43,414
	+6.2%

	1921
	44,711
	+3.0%

	1931
	57,303
	+28.2%

	1941
	70,243
	+22.6%

	1951
	1,08,042
	+53.8%

	1961
	2,11,190
	+95.5%

	1971
	3,63,467
	+72.1%

	1981
	6,03,630
	+66.1%

	1991
	7,52,031
	+24.6%

	2001
	13,45,938
	+78.97%

	2011
	20,35,690
	+51.2%


i. In the population data given beside, are the numbers reported for every decade ? If not which 
   decade’s data is not reported here ?
ii. From which decade to which decade has the population increase been the highest(in percentage)?
iii. From which decade to which decade has the population increase been the least ( in percentage) ?
iv. What is the population of Visakhapatnam in 2011 ? 
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